Honors Math 2

3.2: graphing quadratics

Graph. (show a minimum of 5 points)
1. y=((x-2)*+2
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8. f(x)=2x?*-8x+11
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11. f(x) = —2x*—16x—36

v = b = -4 \ (-2)
acy 5 C
S
4 ; . b\ .
: Domain: Domain:
1S e
Range: Range: )
\, QO A,‘ U< - 3
x ‘ o 3 P oy
> Vertex: Max/Min = > Vertex: Max/Min
(-4, -4) (=U..2)
S I 1) ot ’ & »{ )
1 Axis of symmetry: R S Axis of symmetry:
0‘ |
§ :‘,' ~ L b .' } — <:,
¥ i 4
‘ 4 v
"



Domain:

T)
L P

e
2

Range:

yz-|

Vertex: Max/ Mm

- N\

- 1 )
~ L}

4

=

) &
i~

15.

y=2(x+2)?+2

Domain:

g

<

Range:

¥ X

| ot o |
U>2

Vertex:

Y

(-2, 4)
Axis of symmetry:

XY= -9

17.

re ™=

f(x) = —3x? —24x — 52

7 4 .
<1 - -y

23

Ky
A
< >
\
P
! ‘
¥
v \N

Domain:

1°

% -
Range: {
(-C0 "1 |\

Vertex:_Max/ Min
r‘y‘. o JR
X AP ) b’ 4

Axis of symmetry:

= - L

X
A

Axis of symmetry:

Max/Min )

14, f(x)=-2(x—-1)2*-2

Domain:

L}~
“§

L )

Range: &

> &

o+ 3 . 0 ;:Vh;
A Vertex: Max/Min
-9 CL,-2)
A Axis of symmetry:
X=|
Y tu
4 v
16. y=x%—6x+12
- g:'; ) ~ ,}
200
,;‘L‘ F'\
by
Domain:
>
Range:
x [ 3,00,
Vertex: Max/Min _
S
Axis of symmetry:
: =94

18.

y=|x—4>-1

Yy ]
= Domain:
¥ Range:
yz-I|
% x _
> Vertex: Max/Min )
CYy,-1)
Axis of symmetry:
X=4
P ¥



Identify the domain and range of the given relation. Then represent the relation as a mapping diagram.

19. (=2,3),(1,2),(3,-1),(—4,-3)

20. (6,-1),(-2,-3),(1,8),(—2,5)
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Example of mapping diagram

Use the vertical line test to tell whether the relation is a function.
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Name the type of function. Then evaluate the function for the given value of x.
24. f(x)=x+15; f(—4) 25. f(x)=|x+15]; f(-4) 26. f(x)=(x+15)?; f(-4)
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Solve the inequality. Then graph the solutions on a number line.

27. 4—=x<3

28. —7<6x—1<5
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